vli<v2<v3 D1=D2=D3={1,2,3}

vl <v2 V2 < V3

vl V2 v3



vli<v2<v3 D1=D2=D3={1,2,3}

{vl,v2}. reconsidering {v1,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

{vl,v2}. reconsidering {v1,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

{vl1,v2}: reconsidering {v2,v1}



vi<v2<v3 D1=D2=D3={1,2,3}

—

vl V2 v3

{v2,v3}. reconsidering {v2,v3}



vi<v2<v3 D1=D2=D3={1,2,3}

{v2,v3}. reconsidering {v2,v3}



vi<v2<v3 D1=D2=D3={1,2,3}

{v2,v3}. reconsidering {v2,v3}



vi<v2<v3 D1=D2=D3={1,2,3}

—

vl V2 v3

{v2,v3}. reconsidering {v2,v3}



vli<v2<v3 D1=D2=D3={1,2,3}

¢—

vl V2 v3

{v2,v3}: reconsidering {v3,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

vl V2 v3

{v2,v3}: reconsidering {v3,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

=)

vl V2 v3

{v1,v2}: reconsidering {v1,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

=)

vl V2 v3

{v1,v2}: reconsidering {v1,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

vl V2 v3

{v1,v2}: reconsidering {v1,v2}



vli<v2<v3 D1=D2=D3={1,2,3}

vl V2 v3

No change anymore



